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The Forgetting Curve

Adapted from Ebbinghaus (1885)
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Scientific Solution

Retained after 1 week
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Active Recall is effective
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Adapted from Karpicke and Bauernschmidt (2011)
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Why don’t people use it?

1. Lack of awareness
2. Too much effort



= Convert text
automatically into a
format that allows
meaningful learning

= Value
o Saves time
o Increases retention
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@ Study with Whyze algorithm






https://docs.google.com/file/d/1H8vzqnFbUo43Olhpo3ADTaL2PfAS6Qit/preview
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Traction to date

Market
Research
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Media
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Current Market Landscape W

Content Py Came AL e
Quizlet
Anki
Kahoot
Uplearn
Quillionz

Whyze




= Freemium P Schools and
. Jniversities

= Limited number

of free projects Content
providers
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